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Note : Attempt all the sections as per instructions.
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Section—-A
(Gvs-=)

(Very Short Answer Questions)

(efey @g I wee)

Note : Attempt all five questions. Each question carries
3 marks. Very short answer is required not
exceeding 75 words. 5%3=15

T : |l = uEl TR AR @S TsT 3 595
F1 &1 e 75 = § oy g S onif
gl

1.  What is Communication?

TR T BT
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(2)
2. Whatis meant by Effective Listening?
THEY GO A oY gy aHE BY
What is meant by Oral Presentation?
AR TERET ¥ o on 37
4. Whatis dunning letters?
THE F G R E?
3. What is meant by an interview?
IR |/ A9 a4 Ty ¥
Section-B
(ave-3)
(Short Answer Questions)
(79 sl s7em).
Note : Attempt any two questions out of the following
three questions. Each question carries 7.5

marks. Short Answer is required not exceeding
200 words, 2x7.5=15

e : Frafefes &9 oeit § 4 Bl 2 a3 oo
AT | el g 7.5 ofd F ¥ atRERE 200
=t & @y I onifer R

6. What is Feedback? Explain its Process and
Methods.

oy & Far amem 3?7 gwA shE ol Rt
T ATAT Hifg |
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What do you mean by body language? Digcuss ity
advantages and disndvantuges.

AR W} e 71 o1 27 = arat e
RIERIECEECEE AT

What is a business letter? Describe the essentials of
an effective business letter,

@aﬁﬂrhzaqﬂw%?qéﬁwﬁmﬁmﬁzﬁqﬂ
A AR B o Bt

Section-C
(Evs-%)
(Detail Answer Questions)

(g sl )

Attempt any three questions out of the following
five questions. Each question carries 15 marks.
Answer is required in detail, 3x15=45

e o st & A B @ west B
I AW T A 1S e @ ) g
fareT 3 difora | httpa:.-'.-"www.cu:.»;ustud_v.cmn

Explain the Communication Process. Discuss the
various Components of Communication Process.

@wmwlﬂﬁwm&aﬁﬁﬂ

& Ryl S|
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10.

11.

12.

13.

(4)

icati ing used in
What forms of Communication ar;:) i.aclllgss o
the modern business world? Disc
advantages.

ST e fe § @ & R e
F T R o o1 87 S Al il (e
HIRoTT 1

What is non-verbal communication? Discuss its
various types.

SN T Fq B gD AR T
e #ifom |

What do you mean by Bio-data/Resume? How will
you prepare an effective resume? Give its format
and contents. . -

Siige g /STRAEN § 39 7 TH3 &7 U g
ATHER A &8 G- F? T0H Y& U6 sy
arEll difsra |

Write the basic format of report. Describe the
importance of including visuals in report writing,

R @1 qa ey fofee | R S & o
AT F % Tew F IO PRI

NEP-1038

https://www.ccsustudy.com



A
(20422) Roll NO. e

B. Com.-1 Sem.

NEP-1037

B. Com. Examination, Dec. 2021
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COMMERCE

Business Statistics

Paper Code : C-010102T

Time : Three Hours / [Maximum Marks : 75

Note: Attempt questions from all Sections as per

~ instructions.
qef goet § FRggH us Eﬁzﬁlﬁﬂ I
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Section-A

gus-H

(Very Short Answer Type Questions)

(s g FadT 5e)
Answer all the five questions. Each question
carries 3 marks. Very short answer is required not

exceeding 75 words. 3x5=15
a9 g9 & I AR | dE 99T 3 of

B 2 | A 75 et § oy @Y I o
2 |

“Statistics is a Science of Counting." Explain.

“mwwﬁm%:”iﬁ%}wqﬁm,

Whatare the main limitations of Statistics ?

Wﬁﬁﬂg@zﬂmﬂw%?

NEP-1037

https://www.ccsustudy.com




Tsd
.

3)

What arc the diflerences between primary and
secondary data ?

e o facias que & aar orae ¥ 7

4. I'rom the following continuous series prepare the

(1) less than (ii) more than cumulative series -

frriifeea wmerg Ao @ (i) @ 9 (i) @ S T

oft ST -

0-10 | 8 |
10-201 12

20-30| 30

30-40| 25
4ﬂ—5(]_T
s0-60] 17

5. The deviations of six numbers fi

om assumed

mean 10 arcas follows, Wiya¢ arc the numbers apg

whatis the value of theiy mean ?

NEP-1037
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(4)

BT M 10 F 6 Gregrait & R 3 Rt e

T % | T 7 § ol o e 7 uw
37

-4 +2 -3 +1 0 +10.

Section-B
que-§
(Short Answer Type Questions)
(g wwtr )
Answer any two questions out of the following
three questions. Each question carries 71 marks.

Short answer is required not exceeding 200
words. 7/x2=15

Frafefes 9 ueit & & Bt @ usdi 3 gev
AT | 5% 9 74 st B Y | s 200

T @Y S g Y
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In the frequency distribution of 100 fami lies given
below. the number of familics corresponding 1o
expenditure group 20-40 and 60-80 are missing
{rom the table. However, the median is known to

be 50. Find the missing frequencies :

T2 Re 1 100 ofEr % emafi Rawer & 2040
AR 60-80 A =l & Frfery ufary &) wear

ST @ | feb A S0 3 ¥ 1 v ovaRwd
fevepTfeng -

Expenditure | Numberof Famjlies |

()

0-20 TR
2040 ?
40 - 60 27
60~ 80 9.
B 80 - ll}U" 1 15
NEP.1¢37 I
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(6)
7. Thesize ofthe collar 0200 students in a col lege s
givenbelow. Find out the modal size of the collar -
! e & 200 ot o SR 79 B R
B T & | T A g 7 R fif
: lar Me nt |
Size of Collar Collar Measurement
. (cm.)
32 4
33 11
34 ' 27
35 25
36 32
37 31
38 13
39 11
40 33
41 13
_'__‘_-__-_‘—\—-___
8. Calculate mean apq median [rom the following
data :
NEP-1037
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i @bl @ W A od aigE S
Fifore :

Wages No. of Workers
(%)
Lessthan 8 5 |
Lessthan 16 12
8-24 29
24 and above 31
3240 8
40 and above 19
48 and above 5
Section-C
qoe-q

(Detailed Answer Type Questions)

(fereger Sl st

Answer any three questions out of the following

five questions. Fach question carries 15 marks

Answer is required i *
quired in detai], _
N.EP-I!B? 15%3=45

https://www.ccsustudy.com

(8)
gt @ T
aﬁiﬂlqﬁifw{ﬂ:{lﬁaﬁﬂgl
SRR E

. ness from
nt of skew
Bowley's coeflicte

9. Calculate
{lowing data:
;:;rﬂ it & aeq & faer s @l T
ﬁﬁq : — . . |
~iarks (More than) | No.of Students
— o 150
15 140
30 100
45 80
60 70
75 30
90 14
105 _,E ______
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In the lollowing grouped data, X arc the mid-
values of the class intervals and C is the assumed

mean. If the arithmetic mean is 35.84, find thé

class intervals :

i it & & X aivady o -
AN C R ey ¥ | 3R T e 35.84 3,
é‘rmaﬁrzﬁﬁq:

X-c | f
-_‘"————__

-21 2

-14 12

=7 19

0 29

7 20

14 13

21 s
Total T .

https://www.ccsustudy.com

(10)

1{_1 . It astrai aht trend by the method of Icast squares
to the following data. Als.o plot the original data
and trend value on a Graph paper :

i et & =g ot A & T W
S B SR i | Ak wHer oo
ST Jedt Bt fage T R <f i :

Year | Sales of TV Sets

(in thousands)

2016 7

2017 10

2018 12

2019 14

2020 17

2021 24

' NEP:1937
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Freifesd EHeR & S & 99 AR Jog X

12, Fromthe following data, which Index Number do

ReA HEH 0TI ) o1 BT -
| : ' S | lation | Deaths
vou consider appropriate to construct and why ? Region Arn.a(sq.E?_} Popu
' A 250 40.000 | 480
Prepare that index : B 150 75,009 1,200
| o c | 120 72,000 | 1,080
. . ! :
FifeT ol @ oo Rrg Plais @ fmi B 20 | 20,000 | 280
Soa ww @ ok @t ? 9| P @ Rt
| | ]
Rice Wheat Jowar
Year -
Price| Qty. Price |Qty.
2016 | 9.3 | 100 5115
LZ{]Q{J 4.5 | 90 2713
13, Calewate coellicient gf correlation between
density of populition and deg(hy ale l'mm/lJl@
following data - NEP-1037-1_2
NEP-1037
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(Very Short Answer Type Questions)
(o g Sl )

Answer all the five questions. Each question
B. Com. Examination, Dec. 2021

carries 3 marks. Very short answer is required not

NEP-1036

MAJOR COURSE (UNDER N.E.P.)

exceeding 75 words,

Ix5=15
COMMERCE H@ffﬁﬂﬁ%ﬁ'{‘ﬁﬁ‘{@ﬁ%ﬂﬁBaﬁ
Business Organisation FE SHTT 75 st g [SIESTES IR
Paper Code : C010101T g
L. Describe the main characteristics of "Modem
Business'.
' Marks : 75
L Hours [Maximum { ’
Time : Three '/ Gﬂﬂﬁzﬁaﬂ'ﬂm %Hﬂ@ ) l
- estions from all Sections as per '
Note: Attempt qu 2. Whatis the concept of'one person company'?
instructions. ‘ |
h R T o R 7 |
guat & R 9o & B | ! |
il st & NEP-1036 -
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Tad

What do you understand by 'Busineys

Combination'?

(4)

F=ifad d net & @ Rt & 9 B S

‘e AT & Y T T € 7 AT | T U 7Y oft B B | ARBEH 200
4. Define the term 'Plant Layout'. SR oY 9 MEFE
g AR I B ORI i |
6. Diff i ; :
5. Whatare the objectives of Rationalisation ? iiferentiate between Plant, Firm and Industry.
‘ g S T R E PITET (FUE), F o ST 3 STt T |
Section-B
qus-q | 7. Give the qualities of a successful businessman.
(Short Answer Type Questions) 5
T AR AR % 7O TARK |
(et St 5959)
Answer any two questions out of the following
4 8. What are the different kinds of business
three questions. Each question carries 7/ marks.
. : . combination?
Short answer is required not exceeding 200
words. TVax2=15 T TS & it SEBr 1 S ?
NEP-1036 NEP-1036

https://www.ccsustudy.com

https://www.ccsustudy.com



5)

Section-C
gis-gq
(Detailed Answer Type Questions)

(Frega St )

Answer any three questions out of the following

five questions. Each question carries 15 marks.

Answer is required in detail. 15%3=45

S dr T F @ R A e 3 SR
AR | g% U 15 o B 1 faEE I
SRR |

What is the concept of 'Business' ? Discuss the

various stages of the development of business.

‘T’ 3 RN /1 8 ? S99 ® e B
fafi=1 <ol < e Hif |

NEP-1036
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11.

12.

(6)

W.h L ] i . ® * v a
atare the main congjderations in establ ishing a

hew business ? Discuss in detail.,
P T SR it e B for spe: R et

mewmm%?ﬁ@m
BT |

Discuss critically Sargent Florence's Inductive
theory of Industrial location.

Wwwmaﬁmmwl

W )
hat are the chief causes that lead to combination

in i
industry ? Tllustrate your answer in Indian
conditions.

RN B ST = e & o s e

R 9 R i R ¥ e 2

HHEET |
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(7)

Write shortnotes on the following :

(i) Limited Liability Partnership (LLP)
(ii) SizeofaBusincssunit.

frfiea W G feufrr ffle :

(i) e o e

(ii) SEHIID FIS Bl ST |
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